

1. Completa aplicando la prop. distributiva:

$$2 \times (4 + 6) = (___ \times ___) + (___ \times ___)$$
$$___ \times ___ = ___ + ___$$
$$___ = ___$$

$$5 \times (7 + 1) = (___ \times ___) \square (___ \times ___)$$
$$___ \times ___ = ___ \square ___$$
$$___ = ___$$

$$2 \times (10 - 6) = (___ \times ___) \square (___ \times ___)$$
$$___ \times ___ = ___ \square ___$$
$$___ = ___$$

$$9 \times (9 + 5) = (___ \times ___) \square (___ \times ___)$$

$$\begin{array}{ccc} \downarrow & \swarrow \searrow & \swarrow \searrow \\ ___ \times ___ & = & ___ \square ___ \\ \swarrow \searrow & & \swarrow \searrow \\ ___ & = & ___ \end{array}$$

$$2 \times (12 - 8) = (___ \times ___) \square (___ \times ___)$$

$$\begin{array}{ccc} \downarrow & \swarrow \searrow & \swarrow \searrow \\ ___ \times ___ & = & ___ \square ___ \\ \swarrow \searrow & & \swarrow \searrow \\ ___ & = & ___ \end{array}$$

$$(2 + 8) \times 3 = (___ \times ___) \square (___ \times ___)$$

$$\begin{array}{ccc} \swarrow \searrow \downarrow & \swarrow \searrow & \swarrow \searrow \\ ___ \times ___ & = & ___ \square ___ \\ \swarrow \searrow & & \swarrow \searrow \\ ___ & = & ___ \end{array}$$

$$(13 - 7) \times 3 = (\underline{\quad} \times \underline{\quad}) \square (\underline{\quad} \times \underline{\quad})$$

$$\underline{\quad} \times \underline{\quad} = \underline{\quad} \square \underline{\quad}$$

$$\underline{\quad} = \underline{\quad}$$